
SAP ABAP table ARRANGVALP {Scale/Condition Basis: Income for Characteristics}

ARRANGVALP

LIFNR [CHAR (10)]

BOMAT [CHAR (18)]

MWSKZ [CHAR (2)]

WERKS [CHAR (4)]

LANDL [CHAR (3)]

BOLIF [CHAR (10)]

BONEM [CHAR (10)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]
 ARRANGVALP-LIFNR = LFA1-LIFNR 0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ARRANGVALP-WERKS = T001W-WERKS 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ARRANGVALP-LANDL = T005-LAND1 

0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 ARRANGVALP-MWSKZ = T007A-MWSKZ 

0..N

0..N


